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Instructions: (a) All questions are compulsory subj lect lﬂqnfemgl chou:é LS
. _ (b) Figure to the right indicates marks R
Q.1. Multlple Choice Questnons* ['I'wo marks each]

pays 12% interest compounded annualty, how much
after 12 years ;

Rs 3,879
Rs. 3,896
Rs. 3,887
Rs. 3,978

ao o

it will become

Rs. 9,550 -
Rs. 7,600 -
Rs. 8 500,;:15" 3
Rs.9, soo

eo o

3. Under perpetual, bonds 1f the ycarly'mtl;régt lsRs Tmand /u;rentmyleld is 8%,
-what will be the valuemf bond" s “7“ S, 3

4. tia r‘ate of mterestAls 10 25% ﬁer annum and nominal rate of
£ return 1s 10% pa, whatls tﬁe frequency of compoundmg'?
o o .------_-~ 1s“the remuneranon pald to the entrepreneur after the deduction of all

cxpcnses.

“a Weal‘th _ f .'
b Funds ki
c Interest

. j_‘A dlwdend tﬁﬁt%ls declared before the declaration of the final dividend is
called as-- - dividend

e Adhoe
= i b\ ..I.ﬂteﬂm
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c. Final
d. Temporary
7.  Finance Function involves .
a. Procurement of finance only
b. Expenditure of funds only
c. Safe custody of funds only :
d. Procurement and effective utilization of ﬁlnds
8.  Profit is a measure of term performance - -
a. Long
b. Short ;
c. Medium w
d Future 5

a. 8times
b. 9times
c. 4.5times
d. 7times

10. 2:1is a standard o
a. Current ratio -
b. Gross proﬁt.r?‘é’tib' :
Quick ratio -
d Debt eqmty ratio . - : S
11. One of the following is “not amabsolute llqllld asSet
a. Cash balance & = T

12.

Fora: ﬁrm, the interest rate on term 10an is 12% and the tax rate apphcable is
35% What is the cost. of the term loan for the company?

A 35% 3
b, 42%

_- e 718% ¢

> d. 8.5%

14 Operatmg cherage is 1.56 and financial leverage is 1.22. The combined
e levarage is,

2 a.1.80
b, 1,707

: --l 60
I 90

.';a Modlgllam and Miller
v - b, Walter
-~ ¢ ‘Gordon
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Q.3.

d. Fayol

The capital structure of Angad Ltd is as under: * ~ : 2 \ g N EL S
200 00 000 a2 ' :

Equity shares @ Rs. 10 each

9% Preference shares

10% Debentures @ Rs. 100 each
Other information is:

(1) The next year’s expected dividend is Rs.
5%. The company pays all earnings m;
market price of the share is Rs. 250, .7 "« ¢

(i)  Preference Shares are issued at par: "&ﬂd rcdeemab
of 10%, and 10 years of maturity: Face Value Rs:’

(iii)
years of maturity. - _

(iv)  The corporate tax rate is 30%: .. 3%y B ole
You are required to calculate the we}c,hted average cost of capltal
The details regarding 3 companies-are glven.bel
Manju Litd:. / d.-
r 18% - o Y
K. T .; < ey
E FRsA00 S
Compute value of the1r Equ:ty Shares u _ng
Payoutratio is <O 0o $FS

(@) 0% \ : M

) 20% SR !

(c) 60% -

(d) 100%7 = : -
Calculate the’ operatlnﬂr leverage, ﬁnanmakleverage and the combined
leverage for the followmg ﬁrms

-Mah.ira Lid
& s 10%

Particulars: N NS D
Prodirction ( in: umts) 22,500°| - 9,700 35,800
-Fixed Costs (%) 8,00,000 4,50,000 | 4,50,000
[ Interest on-loan () 3,25,000 -~ 1,75,000 50,000
S| Selling price perunit(X) | 100~ 150 50
*«Varlable cost per Vit ( TS 40 55 20

;: WG Raha i OR
’) The Exlsn% Cap:tal Structurc of XYZ Ltd. is as follows:

| Particulars _ Rs.
~ | Equity: shares of Rs. 100 each 60,00,000
- ['Retained Earnings 20,00,000
» ~19% Preference Shares 25,00,000
1 7% Debentures 25,00,000

Q.{: T 2

The company earns.a.return before interest and tax at 12% and the Tax on

~income is°50%. Company wants to raise Rs. 25,00,000 for its expansion
- programme , for which it is considering the follewing alternatives:

i.  Issue 0f20 000 Equity shares at a premium of Rs.25 per share.
ii.  Issue of 10% Preference Shares.

St Issue of 9% Debentures.
- It.is forecasted that the price-earnings ratio in case of these alternatives are

3

4DD3A35SDS804753A323ABAAOEFFIF578D
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Debentures are issued at par an¢ redeemabic at liaf'-'and have 10 ey
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(i) 20 (ii) 17 and (jii) 16. : o e o
Which alternative would you consider to be the best? also cal@i.llatc expected P e e
market price in case of three alternative financing proposals.= = .- R SAGACHS
Q.4. From the following information of M/S DEEP Ltd. Prepare, al@n(;e Shi:et =
A)  for the year ended 31% March, 2022 ;
Current ratio = 2.5:1
Liquid Ratio 1.5:1
Bank overdraft Rs. 20,000
Working capital Rs. 1,20,000
Reserve and surplus Rs. 80,000
Fixed assets to Proprietor’s fund = 0.75:1 3
Current assets include only Stock, Debtor* an, C
11: 5 :4 respectively. Al g
There is no long-term loan and fictitiousassets.
_OR
Attempt any two from the followmg, - o
B)  From the following particulars ca]culatc;the .fo]lowmg;anos‘ :
i) Current ratio v ; e S
ii) Quick ratio

iii) Capltal gcarmg-" tl )
iv) i
V)
vi)
Particulars Rs.

: _19,16 000

Fixed assets .. & 200:21,00,000
Provision fox:ffax 3’-10‘0,00, B,Qb_. BTl 70,000
Closing st(_::ck‘ P g%fdeﬁéiﬁﬁfes =22 6,00,000

",‘ x hPreference agé 4,00,000

nk overd = 3 -?-Equlty share capltal 8,00,000
Bills: ‘re’ééi”\?ab_e-“. S _-ﬁ'48 060* Vi
Cash inhand - 2 S8000D.] 7 ¢
C) -, VA bond whc‘vse par va ue _i&R’s 1,000- bears a'coupon rate of 12% and hasa  [05]
X 'matunty penod of 10 years Thc rcqulred rate of return or yield on this bond
: "'____-\'-.ls 13% What is the value of the bopd?

[05]

’-'“-‘='-~Short Notes: ; 88

S ce [05]
o '_Net Incomc App Qach ;

4DD3A35D804753A323ABAASEFF1F578D
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Mote: 1. All questions are compulsory
2. Figures to right indicate full marks

Q 1. Fill in the blanks with appropriate option

1. One of the biggest hurdles of ecommerce is

A) Global Reach B) Internet

links the shopping cart to thq[ nan. :?; T

A) System Gateway B) Payment Gatewa’ F 5) Nety

3. The best thing about buying online i 1_5

B TouhAndfeel | | D)ATote

| A) Takes Time - “\QEti‘mS

D) All of the

Options
A) Customer Andﬁf‘ D) Country And
Cash 15t Country
6. Transactlons between two ;h‘stntutlons*la >~ Lo
A) BusmessTo | '_ By N o D) Banker To
Busmess - : B)BankTo Busmess “C) Buyer To Buyer Buyer
7. Models O:fﬁig_ @ ' G w:_\\_" :
e e
WESY | oB2G Options

D) Moderate

D) Artificial
C) EDI Intelligence

in nature

B) Time Consuming | C) Economical D) Tough

: ~Name-is used to identify Internet Protocol Address

B) Domain C) Internst D) E Mail

4DD3A3SD804753A323ABAAYEFFI5SBCIA
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K ’ CRM refers to

| A) Electronic

B) Electronic Client

I Customer Relationship | Relationship
[ Management Management Redressal Man%agemﬂwry}tﬂ‘.
13, allows customers to locate the status of thc _ord”er* in rca.lwtlvme f
A) Self Tracking B) Field Service ; .
{ System Automation Web Pagcs

| 14. By integrating

security for their clients

into the webstore company w:ll ensure u.ltnnate onlme

D) Advanced

S I SO L T
A) High Security B) Password _\ = ) S:'pec'i‘a'\l" Chéﬁé&eré" Teﬁhﬁél’bgy
15, enabled systems requu'e contmuou_g backup\,of vanous documents exchanged
"A) PRI B)EBI: - 205 )
TG ___isconsidered. Ehc mest gopular somal
' A) Facebook f \B)’TWlttel‘ S VeCh D) LinkedIn
| 17, tsthe tergn adopted fqi‘ updates_ ‘ IS
A) Posts oAk B) Twmks C) Twoots =2 D) Tweets
18. ~As. "_soma] meclla optlmlzatloﬁ""': : ;
: . _ B) Eas:ly crcates
A) antent for Soclal _p_ubhcnty viasocial - | C) Creating short D) Writing
Networks ; AT networks ~| content content
LR s s the leadmg social network Torall,
A)Facebook > K B) Twnter C) Skype D) Pinterest
205 — 5.

isa financlal mshtutlon that establishes an account with a merchant and
p_rbceises' payme_nt ca_r_d authortzatton- and payments.

{ A) Customer C5% B) Issuer C) Merchant D) Acquirer
" ’21. .s one ofthe Dlsadvantage of Online Shopping.
A) Prob!em of - i D) Loyalty
Sl De_h_vqry | By Anytime Shopping | C) Lower Prices Incentives
"R22

is a financial instrument that can be used more than once to borrow money
or buy products and services on credit.

A) Credit Card

B) E- Cheque

C) E- Cash

D) E-Wallet

4DD3A35D804753A323ABAASEFF95BC1A
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>, SET in e-commerce stands for

A) Secure Electronic

Transaction

B) Secure Electronic

Transfer

24. “Encryption” word has taken from the

A) French Word
| Kryptos

B) Greek Word

Kryptos

computer and informatlon age.

A) Computer
technology

B) Cyber -

is defined as a crime in'which

A) Social crime

: D}@yber crime

27. DoS stands for : T

A Demo operate

2
D) Detail of

system service

28.

A)USA C) J apan D) Sweden
29,

D) Cyber security
act 2015

: C) Trojan horse

wl -

<iay '\-E}g'plain the various stages in registration of a domain name.

4DD3A35D8C4753A323ABAASEFFI5BCIA

D) Hacking
Q 2. Answer any' one of the following 7.5 Marks.
a) \Mh@t"are-ihg-.rh&i_n' activities involved in e-commerce?
b) _:Descri\bg_’t_pe charagtéri&tim of Business to Business (B2B).
VT c).;"-j;:-hjcidéteftihe_g mpottance of Business-to-Business E-Commerce
©~ Q3 Answ_er anyongvof the following 7.5 Marks
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Time: 2 Hours

Instructions: 1. All questions are compulsory.
2. Draw a neat diagram wherever necessary.
3. Figures to the right indicate full marks

addltlonal 30 minutes.

Q. No.1. Select the correct answer and rewrite th@same

1) Per Capita income is calculated by dividing natlonzil Income by
a. Wagerate  b. Interestrate ¢. Popula,t__wn d Nommal rate__ <

2) When depreciation is deducted from GN? the_ne; \(alue IS
a. NDP b. NNP o

3)
4)
a.UNCTAD
5) Countries with I-IDI Vallle:below 0 5 are conmderedrntthaVe b : --a level of
human dcvclopment o &

aHigh b Very hlgh <o Modéfa_te-, dLow

Y <_"-u

: c}a\Caésel Gustav > d Marshall

i

) Dlsposable-mcomc lncome
a. Wealth { tax b Income tax .

o c G_ap:it;iel'" gain d. Property tax
%8) The pomt when ADE'and ASF ﬁ)tersect 1scaﬂcd
S 'Fota;l;_Dt?Tﬁ_?iQdf 5 &}?ﬁffécii\?_ fhand c Inﬂatlonary Gap  d. Market Demand

9) “The aggrcgate.\su pply\curve slopes .........
D Upwa_rd b downwagd:s c. Hor.izontal d. Parallel to Y axis from the beginning

10) 5 exp}ams thc relatmnshlp between unemployment rate and inflation rate.
e Engei Cin've b. Offer curve  c¢. Demand Curve d. Phillips curve

- 1nthe........ Ph‘illi]’:Ss curve'is vertical.
PRy 7 short rwn - b.longrun  c. medium term d. very long run

IZj J M Keyncs thcory is applicable in the---- )
-a. _Vshgrtr,run : b.longrun - c. short to medium  d. medium to long run

. 1}Page

s

D3C6ESB675A1 SDBV_F;C9ED9EC305D4FEAD
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13. Keynesian macroeconomics concentrated on the'm:
a.Supply side  b.demandside c¢.Bothaandb d. savfn:g*md§

14. The curve which is a schedule of minimum amount of
various levels of output is called. ... ... N

a. Aggregate supply b. Aggregate demand . Unemfﬁloyment 4T

prOceecfs fe_qu m:d to pr _' '

|15) R presented an empmcal theory of mﬂahon 1§
a, JM. Keynes b. Adam Smith
16) ____curve shows the goods market eqq

a. IS b. LM ¢. Demand

17) The slope of the LM curve is e
a. Positive b, Indirect c.'Z,c‘r

18)

RIS curve and LM cur\ze mtersect AL
a. Goods and capital b Goods and m_oncy :

) Fogg,agr!;jE
ELD

. model 15\ helpﬁ:l 10 analyze the effechvemss of both monetary and fiscal policies in
the economy

ai IS LM b Agggcgate demand é Aggregate supply  d. Input-Output

23) Forelgn dlrect 1nvestment isa part of .
a. Trade account b. Capltal accOunt ¢. Current account

d. Expenditure Account

~.224). Expendlture swntchmgpohcles»to correct BOP deficit include of ..
&t Increase in.rate ;

b. Appreciation @] Reyaluatlon d. Devaluation

%

25' LoWermg the Yalue of (jomestlc currency against foreign currency by the government is

,g: Rcval_ua_t_ion A3 b Depreciation ¢. Dcvaluat}on d. Appreciation

-

26) Wh:ch of lhe fol!owmg is not a component of the Balance of Payments?

D3C6E8B675A 18DBFCIEDIEC3I05DAFEAD
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a. Real account b. Current account  c. Capital account d 'BraﬁQAccol{n“t

g7

Payments is
a. Surplus b. Deficit c. Balanced

28) Depreciation of currency takes place through ..........
a. Government b. Central bank  c¢. IMF

30) Devaluation results in ................ A
a. Inmediate Increase in Domestic Price:
c. Cheaper exports

comgp? Explainats,
B Bring out the relation betwc nzn “ugal;andmmql mte,rcs,t
C. Explain the concepts oﬁHBT»and‘v%a\r‘”ébléS"mcluded it

A. Explam the dete‘rmlﬁants Of%ggr"gat& emahd A
B. Write a note oh mﬂhtlonary gap

(7.5 marks)

B Dlscuss the auscs forshlﬁ:'m LM curvé-_
C Wr)teanote on" ; _Mdn«Indla '

! 1l Howing. . : (7.5 marks)
7 Explam the cﬁncc o _'Balan'cenoﬁ};ayments disequilibrium in an open economy.
B Dlscuss Munﬂ%ll“‘

Xxxxxx

D3C6E8B675A18DBFCIEDIECI05D4FEAD ..,_::-
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Section -1

All questions are compulsory.
Number given to right side indicates marks.

Choose the correct option given below questxons,, _Vn 1 writ
answer, ¥

give direction to the research wqu
A)  Sampling

C)  Questionnaire

5 L X
7 2l 3

situation
A)  Qualitative
C) Applied

(M
A)  money -

O dlrectlo {5

(M

o L1mLtatlons
People

%))

B)-* «duration of the research
-expenditure on the research,

QPES“OQR andom or probability sampling )]
_[udg:méhtal‘? <B)  Stratified sampling and Area
sampling
Sequential sampling

Judgemantaf samﬁhﬂ,_ ind Qua
samphng J ;

Questlons thatmakc respoqdents answer with a 51mplc 'yes" or "no" are called )

ER Quqst:ons .
A) Dnchotomous St . B)  Mixed
C) F:Itered D)  Pictorial
AN Of“data refcrs to analysis and generalization of results. (N
“{A) Interpretatmn B)  Processing
Samplmg ’ D) Editing

D3C6E8B675A 18DBFCIEDIEC305964246 :
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Resource chart
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echanically

Research R
Data selecti
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filtered
F-test

B)
D)

1ons and answe,
B)

lons, both quest
tives js-
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arespondent and ap
Y two alterna

%gan be found by
2 :

provides in-depth information reJay;

th on]
d

Isa

PR
c

nd;
ostrac
€ction

Open ended
multiple chojce
Department

ey there is
Educator
Effort maker
Double
Dichotomous

an

Data

“Subs
R

ian
o

Quest
e S

In
A)
&)

Questions w
Primary data

fi
completeness.
A)

Ina syry
A)
0

Primary
A)
0

A)
)

A)
8]
The

v _I \:Q’: :

10.
11
12
13.
14.
15.
16
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graphs are useful to show data

predictions.

A)

21.

variables and help

Pie

Bar

. 2
ey
! ._C_ﬁc

P

B)

b

Line

9

e
U
¢

S

D)

Type 11 error is dencted by

A)
0

r
S

22.

23..

In research report

A)

Information
Title page

)

24,

Non-verbal

A)

Research staff

9

shows various topi

25.

Footnotes

A)

Bibliography

9

26.

)
(¢))
(D
(M

"bocument

I matter
ry contents

Han
ionia

8

P

'k
Research Staff

Researchers
Exhalent

ke e}é"iimina
> Concluding part
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Section -2
Note: '

1. All questions are compulsory, Answer any one ot
2. Number given to right side indicates marks, .

Q1L A)
B)

What are the objectives of research in busine§§_";

Discuss the importance of review of literature:

C) Describe the techniques of sampling.

Q2 A)
B)
&)

3. -

% ) DI
B) Define interpret‘ﬁtfdlﬁ”ﬁf?!afa
Y

1als'of
G e G 5
‘\) ﬁ."“ _\:'.\.. %\‘ ey _;.'\: __n:_,’ ~ \—ﬂ ,;}\. -~ .
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